STEVES AND SONS T —— y I
203 Humble Ave. ;‘;"‘5- %g 9 ﬁg
San Antonio, TX 78225 1 7 . 8 2T
0o O p Ot we  f s dn
E=1=A=1=RI : L
z = = oYz, 8X 292 22
ETEVEE 2 B s R £28 90
T 3 3232-3:',‘ - 23s {{}E
E o g za®0 5b
2 & & o8 KB
TN O] oxzo x
s = 2 23, 6u
: ¢ 8 3968 fu
E < I I o mod S<
2 2 X o X -
OPAQUE STEEL DOUBLE DOOR S
o > 9
w/ or w/o SIDELITES O .
5 3 55
- S
INSWING / OUTSWING T ' o | B2
<
"NON-IMPACT" S | =B
08 |y EH
o 2' %Qﬁ
9]
105" MAX. O.A. FRAME WIDTH E% ol o
S N
= S| &6
o — tlac.l
00 | & O MM s
L1111 s

EVALUATED FOR USE IN THE STATE OF TEXAS

The Steel Door system described herein complies with the 2018 International Residential
Code (IRC), Sections R301 & R609 and the 2018 International Building Code (IBC),
Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor embedment
to base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-borne debris protection this product is required
to be protected with an impact resistant covering that complies with Section
R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC.

3. Allowable design pressure requirements must be equal to or less than the design
pressure rating shown in the design pressure chart, sheet 1 of this drawing.

4. Conditions not covered by this drawing are subject to further engineering analysis.

& REV. DESIGN PRESSURE TABLE

REVISIONS

81.5" MAX. OVERALL FRAME HEIGHT - INSWING —=—]
81" MAX. OVERALL FRAME HEIGHT - OUTSWING —=|

TABLE OF CONTENTS

6/02/20 |UPDATE TO 2018 IBC/IRC CODE

SHEET# | DESCRIPTION

Typical elevations, design pressures & general notes

L
I_
<
a
o
=
6

1

2 Door panel details -
Sidelite panel & glazing details

i Elevoﬁoss : ; ATE: OBy 14/ 1

5 Horizontal cross sections SEAE N TS

6 Vertical cross sections DWG. BY: JK

7 Vertical cross sections XX 74.0" x 81.5" N/A +50.0 -55.0 cHK. B:  LFS

8 Frame anchoring DRAWING NO.:

9 Frame anchoring OXXO 105.0" x 81.5" | 6.12" x 63.12" +50.0 -55.0 TX—4638

10 Components and bill of materials S 1 or 10

R:\Clients\Steves and Sons - Permanent\B - Texas Dept of Ins\Hinged Doors-Steel\DR 433 Opaque Steel Doors\C - Drawings\TX-4638.dwg, TX-4638

© 2016 R.W. BUILDING CONSULTANTS INC.



‘ON| SLNVLINSNOJ 9NIgIing "M’y 9102 @

zs8ll—4 # NOLVMISIORN 40 ILVOIJILNIO SV SNOISIAZY
SY¥33NIONT TYNOISS340¥d 40 Quvog Svx3l 7INVd 5003 A8 41vd [ONfw| . - O_
T 378vL 34NSS3dd NOISIA Ay % B =
S6SEE “14 O9MIDA 0£Z Xog ‘O'd \Sﬁ% AIBN3SSY 80 18vd [s47| 3000 OM1/081 8102 OL 31vadn| 0z/zo/9| L | < M .98
"ONI ‘SINVLINSNOD ONIling N ~ 2 | 2_ )
yooa 133LS o (&g &
€ZLHOL# "3'd Svxal SNOS ONV S3A3LS wld | y|E G
‘3°'d ‘PlWYds 4 uopuiq :Ag peJpdeuq sjuswnoo(q :19Na0¥d 218 W m w z
d¢
7 4
Dessedosees 2
% LQINHDS 3 L g
7Y N R ¥4 L =
\Nm-.» ..... iﬁ o /vn..\vbsm‘.. =z o m D
Uy S g RS < O O =
B X370 20 & & O
Ny S i = = b
RN o] = < <)
i = 2 2
o
| > i R P : ac
] X X S
WEPLASE el =
\ | [T m
® S
m NN
5
. 1]
FAl
[T ||\ o s
/l\ | g
® ——1 g -
( . _— : :
S _—1 a@ls e pinn
3 L =P 2 = S8 ids W.. A
o Bote B | - —
~——1 | — —| 9= g ee e
——I—= (\ ’||\ ”.”M”m@ DN ]
e — " — @ w1 8 Q
V [a] H.;M“x i piin 56
a5 B R =
/ S = | 3
i laa A
5 : LA
& s = SER i B =
9 i B T
S W99°L T B
M T IV.A e i ”Hmm
o 3 =
; [l o C : _..\r_o
- = 8 = - ”:A.._HW W
e =l e =
ks G ) | 2o g
} \\ Ly g S|s ERREes
“ % Olo
/4 Q Q W 3
& o (o} « Q=
o
©) ©)
% 2~ |
5 2 = —ll + 3 ]
< in )
Q = = 8
= 1 1R
3 o ®
:mh. l‘|L
_ =
4 L
: (a4
; <
. :m.ov‘ :m.m W
- oz
<
: mw t o
N =z
o el = O
= , = o &=
= 22 ol P I x oo
oo g Z5
3 Z o|8 =g
o- o g Z
5=
@ @ x &
Q%
Lz
b )
o &
O
LHOIFH 1INV XYW 6. %

- 'Bmpgegp-x1\sbuimelq - D\siooq |981s anbedQ g€ Ya\|9a15-s400q pabuiH\su| jo 1dag sexa] - g\iuauewlad - SUOS pue saAd1S\siualD\:y



R:\Clients\Steves and Sons - Permanent\B - Texas Dept of Ins\Hinged Doors-Steel\DR 433 Opaque Steel Doors\C - Drawings\TX-4638.dwg, 4-3

STEEL SKIN

@)

INTERIOR

//

N
§\

¥/

14" MAX.

PANEL WIDTH
6.125" MAX.

EXTERIOR

/"1 "\ HORIZONTAL CROSS SECTION
3

FOAM CORE

D.L.O. WIDTH _" F’
D
=

INTERIOR

3/8" GLASS BYTE
ALUM. SPACER

1/8" TEMPERED\\

#10x 1-3/4" PFH SCREW
(SEE NOTE 1)

GLASS N

s
X

N
1/4" AR AR

1/8" TEMPERED

in
B

TE_

I<— 1.25" —>|

1.63"

TOP RAIL
LvVL

—1.63' ——

=

<7
. SIDELITE PANEL
Steel

- %"
g
//
—:
E 5 o @
R \3/
- @)
g =
< e @)
=
= =
S &
= N
R &5
~O
/
///
/

STEEL DOOR SKIN: MIN. 0.019" THK

CORE MATERIAL: EPS FOAM (POLY.STYRENE)

NOTE:

1. Spacing for lite frame screws is as follows:

GLASS READI-SEAL
1/2" OVERALL — BUTYL GLAZING  BACK-BEDDING
GLASS THK.
COMPOUND (ADCO)
EXTERIOR
1) GLAZING DETAIL
ODL Lite Frame

Sides: 4.5" from corners and 11.5" o.c. thereafter

Top & Bottom: 2" from corners.

T
4

3E

1.58" —

L:f{H

2.61"

=

ODL LITE FRAME
HP Polypropylene

HINGE & LATCH STILE

3B

LVL

—1.63' —~

’-s— 107" —|

——e—

H=1H

BOTTOM RAIL
Wood (8.G.>=0.42)

STEELSKIN |

ANy,
SRl gl
Fo Xt 210
£2EE Y N
83 S S W2 .
Zwi  i0io BV GIN
L hgi0iD @
A B
20% 1532 OiQ
AR H 3 ~R >
X o S A
Yk, 0L
st Z gD
Qi it XS :
Tanade™

EXTERIOR

INTERIOR

FOAM CORE

7“2\ VERTICAL CROSS SECTION

\3/

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

BUILDING CONSULTANTS, INC.

P.O. Box 230 Valrico FL. 33595

Documents Prepared By

Phone No.:

TEXAS BOARD OF PROFESSIONAL ENGINEERS
CERTIFICATE OF REGISTRATION # F—11852

(%) 3
5 2
hS o=
al |.. a8
=0, |8 &
< ©
oo |3 =
L,JL'J wl TON
5 o W<
o¥ |9 &
- R
5”7 |s
3 o
'_
o
& <
a [a
21 >
Ll |

& REV. DESIGN PRESSURE TABLE

6/02/20 |[UPDATE TO 2018 IBC/IRC CODE

1

REVISIONS

DATE: 09/14/'1

=
<
a
o
z
6

SCALE:

N.T.S.

DWG. BY: JK

CHK. BY:

LFS

DRAWING NO.:

TX—4638

SHEET _3 oF 10

© 2016 R.W. BUILDING CONSULTANTS INC.



"ON| SLNVLINSNOJ aNIaing "m'sd s1azg @

2S8LL—d # NOLLVMLSIOZY 40 3LVOI4ILY3D SNOISIATY -
SYIIANIONT TYNOISS340¥d 40 Q¥vVOd SVXIL SNOLLYAT I Ag 31vd [ON]©| - O_
L616'659°CLg 'ON euouyd 378V.L JHNSSIHd NOISIA "AJH % £ M _.I_r m\m H
G6SES .14 OOUIDA 0SZ Xog .O.n_\héV "ATBW3SSY d0 Lavd | s41| 3000 2d1/041 810z 0L 31vadn|oz/zo/9] + | M ” % C
"ONI ‘SINVLINSNOD ONIGTING g. = el 2 47

4000 1331S 3 15]sle x

£ZLYOL# "3'd Svxal SNOS aNV S3A3LS dld el x|E ]
‘I'd IPIWYDS 4 uopui :Ag peJpdelq sjuewnso(q 110Na0ydd S8 W Sle& &

S2
q
/ “
0 'L
|
q
3
\7/

I

D
/3
Y,

®

ELEVATION (OXXO)
CONTINUOUS HEAD & SILL

,////
[
1°
H
I
J
N

ELEVATION (XX)

-7 'BMp'ge9p-X1\sbumelq - H\si00q 2335 anbedo e YA\|993S-5100 pabuiH\su| jo 1daQg sexa] - g\lUsueWId - SUOS pUE S3A3)S\SIUBID\:Y



R:\Clients\Steves and Sons - Permanent\B - Texas Dept of Ins\Hinged Doors-Steel\DR 433 Opaque Steel Doors\C - Drawings\TX-4638.dwg, 4-5

0.15"
—— |=— C'SINK

T
P
f

Y/ PLER

/ 1"\ HORIZONTAL CROSS SECTION
\y Inswing shown - outswing also approved

EXT. SHEATHING \\

EXTERIOR

®

7

INTERIOR

SEENOTE 1
EXTERIOR o @
‘x \‘3\'\'\;\'\‘\'\\\\(\\\\«.. l/'/l/////
NPT L /t
/‘ " "
INTERIOR &) ; O

m HORIZONTAL CROSS SECTION
\5‘_,/ Inswing shown - outswing also approved

0.15"
C'SINK |—
(TYP.)

s EXT. SHEATHING gg%

®/v

\\

W Z L
23,5 42 ?Q,Q

NOTE:

1. Sidelite ass'y fasteners located
6" from each end plus 3 more
screws equally spaced between
(5 screws total per jamb).

A
® @

SEENOTE 1

/"2 HORIZONTAL CROSS SECTION

P DRYWALL

w Inswing shown - outswing also approved

EXTERIOR

\\

A\

o

27
INTERIOR

®

m HORIZONTAL CROSS SECTION

w Inswing shown

INTERIOR

EXTERIOR

m HORIZONTAL CROSS SECTION

W Outswing shown

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123
813.659.9197

TEXAS BOARD OF PROFESSIONAL ENGINEERS

P.0. Box 230 Valrico FL. 33595
CERTIFICATE OF REGISTRATION # F—11852

Documents Prepared By:

BUILDING CONSULTANTS, INC.

Phone No.:

STEVES AND SONS
STEEL DOOR
HORIZONTAL CROSS SECTIONS

PRODUCT:

LFS | PART OR ASSEMBLY:

BY

& REV. DESIGN PRESSURE TABLE

6/02/20 |UPDATE TO 2018 IBC/IRC CODE

—

REVISIONS

e
<
a
o
=
6

DATE: 09,/14/1

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4638

SHEET _ 5 ofF 10

© 2016 R.W. BUILDING CONSULTANTS INC.




*ON| SANVLINSNOJ UZ_OJ_._.._D ‘M'Y 9102 @

2S8LL—d # NOILVMLSIORY 40 3LVOIJILN3D SNOISINFY '
SY3IAINIONI TVNOISS340d8d 40 Qivo8 SvxX3l SNOILD3S SS0YD IVOILYIA A8 T SR A e 31vd ON m S « B & m‘ .
sesee ﬁrmhmm_wmrwnmn.momcwm \§ 'XIBNISSY_¥0 _19vd | 5471|3000 0dl/o81 810z 0L 3wvadn| 0z/z0/9] 1| X|=| |~ Q|5
¥ kS
“ONI ‘SINVLINSNOO ONIaTINg > 2 | 6_
4000 733LS S ElEle &2
£ZL¥OL# I'd SvXal SNOS ONY S3A3LS wldle| B n
‘3'd IPIWYDS 4 uopui :Ag pedpdeud sjuswnooq :10NAa0¥d W SI1E| 5 w 5
[UN]
o
o &
o Zz
O O
2 O
=
)
=
2
o) o2
= Ao
L 0O|5
= ] az| .2
N W00 C rrm
~ = 3
g2
, =
| >0
’ ™|
J
O
Zz
T
— (0’4
n @)
5 % ©
& ('dAL) 52
—— 3NIS.O i
/ WS1°0

V P
i

7
EXTERIOR

/ 1"\ VERTICAL CROSS SECTION
W Inswing shown - outswing
also approved

DRYWALL \ .

@)
INTERIOR

=
iz =
& 5
> Qs
[« =)
o2
-l =
<| 3
Ul o
Be|S
P s
Z S e
N (~0
[a%4
©)
(74
Ll
TI
= (®

9-¢ ‘BMp'ge9p-X 1\sBuimelq - D\si00q |231s anbedQ £ HA\[9335-S100Q pabuiH\su| 40 3da sexa] - g\Jusuewlad - SUOS pPue $aAdIS\SIUaID\:Y



"ON| SAINVLINSNOJ aNIaling

‘MY 910z Qg

ZSBLL—d # NOLWALSIOZY 40 ILVOLdILN3D ) SNOISIATY 3Iva TON
SYIINIONI TVNOISS340¥d 40 Qyvog Svx3l SNOILOIS SSOHD TVILLYIA _ m Gl 1) 0 m_
Ty e—— . 378V1L 34NSS3IHd NIISIA ‘AFH % NEE Ly ML
S6SEC 114 OSLIDA 0CT Xo@ 0°d \§ ABNISSY HO0 18Vd [S47] 3000 9ul/08I 8102 OL 31vddn| 0z/20/9 | 1 | |5 L85
*ONI ‘SINVLINSNOOD 9NIaTINg K N N (. 2 v_A _/_
4004 1331S o a5 g =
£ZLHOL# ‘3'd SvXaL SNOS ONV S3AJLS HEIEIME n
‘3'd ‘IPIWYDSS 4 uopuk :Ag pelodeud sjuswnooq :19NA0Yd 319 Z 5|z z
5 X
S L ¢
Disiests mmw.vm: ..?.m.»
3 LOINHOS o eeensd §5
.......‘..m.m.mzoo NAT £ Les
,W« NS L IO eee .1—0.. = mO B
B L ANE 508
.&%ﬁwa: = ...../.\..o fon 200 m
T T 8 %% o &
ﬁluwu.tr).ﬂ().. 00 g Q Z
2075 Q2 ©
(0] = Z
c 20 @)
2 o =
0w — 2 QO - | O
2450 oz . (@)
>335 & £
o R Z Q
C = o c
. O 0 ¢ .m
W =<9 35
Ol ©o2 Q|3
Zl & o E mRu,m
i (o]
= N. O
9|2
~ =3
| n
; m 3
2
A
<
L —
—_
i ac Z
: ) m
("dAL) o L
\ IIA [~ INISD m
VF— 7 —F 77 :m_..o L
A — S —
‘ N o
w9
=
&l Qo
A
[ A
< (7 1k
/ Q|3
R ]
O
N O m o
>
I~ N. m m
m oQ
T o
X L S|E3S
D ~
() = ® g
< =
z £
> —
5 L
° 45
Z
\\ .
=
W]
a5
o Z
O 0O
2 O
(24 @/[
S ~ z
o o
=
£ 2
A
: Q|2
AW m m
sl o2
S =
‘.«wx < 3
y S m o
= MY AN [ .m
S
kd\ V m
mw
W
o 0
O z
o’ L
K &
Z

L-¥ 'BmMp'gegy-X 1\sbumelq - D\siooq (9815 anbedQ £t Yg\|921s-5100q pabuiH\suj o 1daq sexa] - §\IUSUBLLISJ - SUOS PUB S3A31S\SIUBID\:Y



"ON| SLNVLINSNOJ aNIaing "Mm"'d 9102z (@)

Zsslisd ﬁ NOLLVNLSIOZN 40 ILVOLdILNTO = SNOISIATY
VNOISS340¥d 40 Quvog Svxal J1vd [ON|©
ONIHOHONY INv¥4 . |, il | 2
R A —— e ‘ F78v._38N5539d _NOISId_A3d % N R 1 r_
S6SEE "4 OSMIDA OSZ Xog ‘0°d \S\&. . ¥0 1¥vd | S47| 3000 0dI/081 810z Ol 3ivadn| 0z/zo/9| L | ¥ |5 L Q|s
*ONI ‘SINVLINSNOO ONIGTINg = S | 8_
¥00Q 7331S 3| |slglex!|
£ZIYOL# ‘3'd SvxaL SNOS dNV S3AFLS MEIRME G
‘3'd 9PIWYOS 4 UOpuA]  :Ag petodesd sjuswinoog 10Na0Yd g m S M w W
- =
3 5 :
f & o <
Lk :
: : ~ I AP 0] = 7 - ©
..- - +° T 11 m w o~ “ (@)]
FSeend et X S » ==
O - =53
TR < K23
GO
<
® Lo
[79]
1 2
I
fa)
< o) 24 -
\“\ T o m // &
® m O V7 ®
—(L O v
{2 e T SE2
~—— =5 0 <|&S
| & HM _ n
Qlg Ql<E
/A D] / O
77 < '/ <
oZ 4 pe
> 1)
< <

"r_ —l":m.m—. —
3
==
- S
2
. B
o
= . rudl (dAL) 'D'0
% XYW b =
" mm
= | | | 1= 55
[+'4
u4wmq %) m%
[aa] OD
= 20
m\ll = O
S < M=
<E ¢ o
=5 < pe S Ex
F L %) w = L) < =
™= T ; < W <C 2 ad
— [ v mu e o UM MM
T >x< w o
- — — o — L - NVA = ~—
AWN ||||||||||||||||||||||||||||||||||| &) = 23
— 1 w
) =
— =
M

4"

RECORD (TYP.)

THE ENGINEER OR ARCHITECT OF
7
l

2X FRAMING TO BE DESIGNED BY

CONCRETE (MIN. 3000 PSl)
WOOD (S.G. >=0.42)

FLOOR SUBSTRATE MATERIAL

© 40, 050 0 o @ o

:m.& il _ n _.m | n _.m _

|-,
HINGE JAMB

8-v 'Bmprgegp-x1\sbuimelq - D\s100q |2a1s anbedp £ Ya\[9a1s-s100Q pabuiH\su| 0 3daQ sexa] - g\lusuewIad - SUOS pue SaAIS\SIUBID\:Y



‘ON| SLNVLINSNOJ 9NIaing "My 9102 (@)

2S8L1l—d # NOLLVMLISIORN 40 3LVOI4ILNED SNOISIAZY
SY3IINIONI TVNOISS3404d 40 QuVOg SWX3L A8 J1vd |ON|«©
INIHOHONY IFNVH4 - . o
P ——— . 318vL 39NSS3IYd _NOIS3A_ATH % Ju|x|2] 8 1_
S6SEE 14 OSUIPA 0£Z Xog .o.m\h\w@, ‘ATBN3SSY 80 Ldvd | s47| 3000 0¥1/0d1 8102 OL 31vadn| 0z/zo/9 | | = ~ . % S
*ONI ‘SINVLINSNOD ONIaTing - | = g | 9_
¥00a 733LS 3| |&8]|gle =
SZLYOL# "3'd Svxal SNOS 0NV S3A3LS a8l e|E G
‘3'd ‘IPIWYDS ‘4 UOpuA]  :Ag peupdeld sjusWINDOQ 10Naodd .ml m z M m M
— =
@ ® : .
Q (@)
3 5 z
\ /] 5 2 , 5 %
Ih S - ] }h —& M 17 W m
1T 11 N D L o))
£ o3 ==
5 o ge
< =
! Q mAuo
= Pl =
1/4 7,
3
[N}
k\ T o
® o & =
- o = // >
L — == O ®) U ®
K i 1= N|X o
Qlg . =2 c
/A Q] 0 <|(on M
/4 < - Lizg
o2 al<s
= O
< =
>
<

@ /4

)

~

C =

ASTRAGAL

4II
TYP.)

L (dAl)

s 00 XYWL
_ _ _ _ _ |

=
I

1

,i MULLION

||
[ |

p
(TYP.)
g

(TYP.)

ASTRAGAL

SEE

DETAIL 1

|
[
[
[
[
|
|
[
[
[
[
|
|
|
|
I\
|
[
|
I
|
[
[
[
|
[
|
|
[
|
|
|
[
|
|
[
%/
[
L 1A
FRAME ANCHORING
OXXO

{

RECORD (TYP.)
0.42)

THE ENGINEER OR ARCHITECT OF
l
I

2X FRAMING TO BE DESIGNED BY

T,

CONCRETE (MIN. 3000 PSI)
WOOD (5.G. >

Q
=
.* L] ° ° ° ° ° —
_ —ﬂﬂ ® oo e %o ‘ —&
cco-_ mht oo.- m
_ =S
=== :m.& I :_.m I ) ___.M“ 1

FLOOR SUBSTRATE MATERIAL

6-7 'BMprgegy-x 1\sbuimelq - D\s100q |9a1s anbedQ £e Ya\[933S-s100Q pabuiH\su| 40 3daQ sexa] - §\}UsUBWIR - SUOS Pue SaA3IS\SIUBID\Y



R:\Clients\Steves and Sons - Permanent\B - Texas Dept of Ins\Hinged Doors-Steel\DR 433 Opaque Steel Doors\C - Drawings\TX-4638.dwg, 4-10

BILL OF MATERIALS
ITEM # | DESCRIPTION MATERIAL
B 2X FRAMING (SG >=0.42) WOOD
C 1/4" MAX. SHIM SPACE -
J #10 X 3" PFH WOOD SCREW STEEL
L #10 X 2-1/2" PFH WOOD SCREW STEEL
M #8 X 2-1/2" PFH WOOD SCREW STEEL
N #8 X 3" PFH WOOD SCREW STEEL
P 1/4" PFH ELCO OR ITW CONCRETE SCREW (1-3/4" MIN. EMB.) STEEL
1 JAMB - FINGER JOINT PINE (SG >=0.42) WOOD
2 MULLION - PINE (SG >=0.42) WOOD
3 INSWING THRESHOLD ALUM/COMP.
4 OUTSWING THRESHOLD ALUM/COMP.
5 INSWING THRESHOLD w/ SIDELITE ADAPTER ALUM/COMP.
6 | OUTSWING THRESHOLD w/ SIDELITE ADAPTER ALUM/COMP.
7 WEATHERSTRIP (Q-LON]) FOAM
8 DOOR SWEEP PVC
9 4" X 4" HINGE STEEL
10 |#10X 1" PFH WOOD SCREW STEEL
11 #10 X 3/4" PFH WOOD SCREW STEEL
27 | LATCH STRIKE PLATE STEEL
28 | DEADBOLT STRIKE PLATE STEEL
40 | DOOR PANEL - SEE DOOR PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS -
50 | SIDELITE PANEL - SEE SIDELITE PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS -
51 ALUMINUM ASTRAGAL (ENDURA ULTIMATE HURRICANE) ALUM
52 | #8x2-1/4"PFH WOOD SCREW STEEL
53 | #8x 1"PFH WOOD SCREW STEEL
55 | ALUMINUM ASTRAGAL (WORLDWIDE) ALUM
56 | ASTRAGAL STRIKE PLATE STEEL
in ‘— 1.75" —‘
o
CONCRETE ANCHOR NOTES:

1. Concrete anchor locations at the comers may be adjusted to maintain the min.
edge distance to mortar joints.
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to

maintain

the min. edge distance to mortar joints, additional concrete anchors f

may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

............................ MIN. CLEARAN
. TO MASONRY
CCEDGE i ANCHOR
T ® 1/4" 1-3/4" 1-1/2" 4"
TAPCON
ELCO " " " n
ULTRACON®| 174 1-3/4 1 4

. SWEEP

_——— 456

2.5"

e

[
|

in
ok r
| /] 2
o
3
@ FINGER JONT PINE JAMB ~
— F3 BN s Ao
T ! 5.62" !
3 INSWING THRESHOLD
AFCO
=
e}

! 5.62"

INSWING THRESHOLD

5 w/ SIDELITE ADAPTER

0.0¢"

2.65"

£

51 ULTIMATE HURRICANE ASTRAGAL
Endura Products

15—
( : )MULUON

AN\ 4.

(4

4.55"

OUTSWING THRESHOLD

AFCO

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

P.0. Box 230 Valrico FL. 33595
813.659.9197

BUILDING CONSULTANTS, INC.

Documents Prepared By:

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

STEVES AND SONS
STEEL DOOR
COMPONENTS
AND B.O.M

PRODUCT:

LFS | PART OR ASSEMBLY:

BY

1.38" =

-

4.55"

3 OUTSWING THRESHOLD

w/ SIDELITE ADAPTER

2.79"

0.05"

|

55 ALUMINUM ASTRAGAL
Worldwide

& REV. DESIGN PRESSURE TABLE

6,/02/20 {UPDATE TO 2018 IBC/IRC CODE

1

REVISIONS

Ll
=
<<
o
o
Z
6

DATE: 09/14/1

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4638

SHEET 10 ofF 10

© 2016 R.W. BUILDING CONSULTANTS INC.



